

$$\log_n^m = a \quad \log_{mn}^m = b \quad n^d = \frac{m}{a+1} \rightarrow \log_n^{\frac{m}{a+1}} = b \rightarrow \frac{a+1}{a+1} = b$$

$$b = \frac{a+1}{a+1} = \frac{a+1-1}{a+1} = 1 - \frac{1}{a+1} \Rightarrow 1 < b < 2 \Rightarrow [b] = 1 \quad \checkmark$$

الف) $y = \sqrt{\frac{n}{\log \frac{1}{n}}}$ $n > 0$ $\log \frac{1}{n} \neq 0 \Rightarrow n \neq 1$ $\frac{n}{\log \frac{1}{n}} \geq 0$ $n < 1 \rightarrow \log \frac{1}{n} > 0 \rightarrow n > 0$ $n > 1 \rightarrow \log \frac{1}{n} < 0 \rightarrow n < 0$

$\Rightarrow D = (0, 1) \quad \checkmark$

ب) $y = \log \frac{(n^2 - n - 2)}{\sqrt{n^2 - 1} + 1}$ $\sqrt{n^2 - 1} - n^2 - 1 \geq 0 \rightarrow n^2 > 1, n < -1$ $\sqrt{n^2 - 1} + 1 \neq 0 \rightarrow \sqrt{n^2 - 1} \neq -1 \quad \checkmark$ $n^2 - n - 2 > 0 \rightarrow (n-2)(n+1) > 0 \Rightarrow n > 2, n < -1$

$\Rightarrow D = (-\infty, -1) \cup (2, +\infty) \quad \checkmark$

$(\log \frac{a}{b})^n + (\log \frac{b}{a})^n - \log a = 0 \rightarrow (\log a - \log b)^n + (\log b - \log a)^n + (\log a + 3) = 0$

$\rightarrow (1 - 0, 3 - 0, 1)^n + 0, 1 \cdot n - (1 - 0, 1 + 0, 1) \rightarrow \dots$ $0, 1 \cdot n + 0, 1 \cdot n + 0 = 0$

$\rightarrow b^2 - 1 \rightarrow 0, 4 \cdot 1 - 1(-1, 1)(0, 3) = 1, 9 \quad n_1 = \frac{-0, 1 + 1, 1}{0, 4} = 1, n_2 = \frac{-0, 1 - 1, 1}{0, 4} = -1$

$n_1 - n_2 = 1 + \frac{1}{0, 4} = 1 + \frac{1}{\frac{1}{4}} = \frac{5}{4} \quad \checkmark$

$1 \log_q^a + \log_a^{\sqrt{q}} = 2 \rightarrow \log_q^a + \log_a^{\frac{q}{a}} = 2 \rightarrow \frac{1}{\log_q^a} + \log_a^{\frac{q}{a}} = 2 \rightarrow (\log_a^{\frac{q}{a}})^2 - 2 \log_a^{\frac{q}{a}} + 1 = 0$

$\rightarrow f - f(1)(1) = 0 \Rightarrow \log_a^{\frac{q}{a}} = 1 \rightarrow a = q \quad \checkmark$

$\log_V^V = 1, \log_{\omega}^V = 0, \omega \Rightarrow V = 1, \omega = \omega \Rightarrow V = (\omega^{0, \omega})^{1, \omega} = \omega^{1, \omega}$

$\log_{\omega}^V = 1, \log_{\omega}^V = \omega^{1, \omega} \times \omega = \omega^{1, \omega}, 1 \cdot \omega \times V = \omega^{0, \omega} \times \omega = \omega^{1, \omega}$

$\log_{\frac{1}{19}}^{\frac{1}{19}} = \log_{\frac{1}{19}}^{\frac{1}{19}} = \frac{1}{19} \quad \checkmark$

$$\log_{\omega}^{\omega} = b\omega, \log_{\gamma}^{\gamma} = 1/\gamma \rightarrow \omega = \gamma^{b\omega}, \gamma = \gamma^{1/\gamma} \Rightarrow \omega = (\gamma^{1/\gamma})^{1/\omega} = \gamma^{1/\gamma\omega}$$

$$\gamma = \gamma_x \gamma = \gamma_x \gamma^{1/\gamma} = \gamma^{1/\gamma}, \omega = \gamma_x \omega = \gamma_x \gamma^{1/\gamma} = \gamma^{1/\gamma}$$

$$\log_{\gamma}^{\gamma^{1/\gamma}} = \frac{1/\gamma}{\gamma} = \boxed{1/\gamma^2} \checkmark$$

$$\log_{\Lambda}^{\Lambda} = m$$

$$\Lambda^m = \Lambda \rightarrow (\gamma^{\gamma})^m = \gamma^{\gamma m} \rightarrow \gamma^m = \log_{\gamma}^{\gamma^{\gamma m}} \rightarrow \gamma^m = \gamma^{\gamma \log_{\gamma}^{\gamma} m} \rightarrow \log_{\gamma}^{\gamma} m = \frac{\gamma m - 1}{\gamma}$$

$$\log_{\gamma}^{\gamma} \gamma = \eta \rightarrow \gamma^{\eta} = \gamma \rightarrow (\gamma^{\gamma})^{\eta} = \gamma^{\gamma \eta} \rightarrow \gamma \eta = \log_{\gamma}^{\gamma} \gamma^{\gamma \eta} = \gamma + \log_{\gamma}^{\gamma} \gamma$$

$$\eta = \frac{\gamma + \log_{\gamma}^{\gamma} \gamma}{\gamma} = 1 + \log_{\gamma}^{\gamma} \gamma \rightarrow \eta = 1 + \frac{\gamma m - 1}{\gamma} \rightarrow \boxed{\eta = \frac{\gamma m + \gamma}{\gamma}} \checkmark$$

$$(\gamma, \gamma)^{\gamma \eta - 1} = \left(\frac{\gamma \gamma}{\Lambda}\right)^{\eta \gamma} \rightarrow (\gamma \times \omega)^{\gamma \eta - 1} = (\omega^{\gamma} \times \gamma^{\gamma})^{\eta \gamma} \rightarrow \gamma^{\gamma \eta - 1} \times (\omega^{\gamma})^{\gamma \eta - 1} = \gamma^{\gamma \eta - 1} \times \omega^{(\gamma \eta - 1)\gamma}$$

$$(\omega^{\gamma})^{\eta \gamma} \times (\gamma^{\gamma})^{\eta \gamma} = \omega^{\gamma \eta \gamma} \times \gamma^{\gamma \eta \gamma} \rightarrow \gamma^{\gamma \eta - 1} \times \omega^{(\gamma \eta - 1)\gamma} = \gamma^{\gamma \eta \gamma} \times \omega^{\gamma \eta \gamma}$$

$$\gamma \rightarrow \gamma \eta - 1 = \gamma \eta \gamma \rightarrow \gamma \eta \gamma = \gamma m - 1$$

$$\omega \rightarrow \gamma m \gamma + \gamma m - 1$$

$$\Rightarrow \eta_1 = \frac{-\gamma + \gamma}{\gamma} = \frac{1}{\gamma}, \eta_2 = \frac{-\gamma - \gamma}{\gamma} = -1$$

$$\left\{ \begin{array}{l} \eta = \frac{1}{\gamma} \rightarrow \log_{\Lambda}^{\gamma} = \frac{\gamma}{\Lambda} \\ \eta = -1 \Rightarrow \log_{\Lambda}^{\gamma} = \frac{\gamma}{\Lambda} \end{array} \right. \checkmark$$

$$\log_{\Lambda}^{\gamma} = \frac{\gamma}{\Lambda} (1+a) \rightarrow b = \Lambda^{\frac{\gamma}{\Lambda} (1+a)} \rightarrow \gamma b - \Lambda = \gamma \Lambda^{\frac{\gamma}{\Lambda} (1+a)} - \Lambda \rightarrow \gamma b - \Lambda = \Lambda (\gamma \Lambda^{\frac{\gamma}{\Lambda} (1+a)} - 1)$$

$$\rightarrow \gamma b - \Lambda = \Lambda (\gamma \Lambda^{\frac{\gamma}{\Lambda} (1+a)} - 1) \quad \log_{\gamma}^{\gamma} b - \Lambda$$

$$a = \frac{b+c}{r} \rightarrow b = ra - c$$

$$\frac{1}{n_1 + n_2} = \frac{1}{5} = \frac{ra}{b} = \frac{ra}{ra - c} = \lg r = r \lg r \rightarrow \frac{ra}{ra - c} = \lg r$$

$$\frac{ra - c}{ra} = \lg r \rightarrow 1 - \lg r = \frac{c}{ra} \rightarrow r - \lg r = \frac{c}{a}$$

$$(\gamma^{\frac{1}{\Lambda}})^{\frac{c}{a}} = (\gamma^{\frac{c}{a}})^{\frac{1}{\Lambda}} = (\gamma^{r - \lg r})^{\frac{1}{\Lambda}} = \left(\frac{r}{\gamma}\right)^{\frac{1}{\Lambda}} = \boxed{\sqrt[\Lambda]{\frac{r}{\gamma}}}$$

$$\lg^b = \frac{1}{r} \lg^b = \frac{r}{r} (\cancel{\lg^1_r} + \lg^a_r) \rightarrow \lg^b_r = r \lg^1_r = \lg^{1r}_r$$

$$b = r^4 \rightarrow \lg(rb - 1) = \lg 100 = \boxed{2}$$